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LmAL EDUCATION CERTIFICATE 

SECOND YF.AR EXAMINATIONS, 1990 

OFFICE MANAGEMENT & ACCOUNTING 

(Monday, Maq 28, 1990) 

I n6tlw.di.on6 to st:uden:t.6 

a) T.i.me: 3l lwuJt6 

b} An6weJt THREE que.ti.don6 6JWm PAiff A and TWO que.ti.U.On6 
6Jwm PART B 

c) Quuti.on6 .6d.ec:ted 611.0m PART B mUl.).t be an6WeJr.ed on 
a 4eptrJr.l1U. 1.he.e;t. 

d} Zn an6wvWtg any quuti.on a .6tll.deni:. may lt2.pl1J by 
11.edeJLence to :the R.11lA1 06 any Com1nonweJLUJi Ca/U.bbean 
J:vrlri;toJr.Y, but mu.6.t 6.t'ate. a;t :the be ..fmtiJ1 o .the 
~well .the name. o e evant Wt.Jr.i.:t.olUI. 

e.J I.t .l/J wine.c.U.6all.y to :tJLa.n6cJt..i.be :the quuUon. you 
attempt. 



2 

PART A 

QUESTION 1 

Lisa Labrish is employed to the firm of Rich and High as 

secretary to Tom Rich9 one of the partners. l1ike High, another partner 

recently met Ann Socialite at a eoclttail party and had a long conversation 

with her during which he learnt the following~ 

that Ann is a very close friend of Lisa's; 

that Ann knows that a prominent member of the 

community is a client of the firm and that he 

has recently consulted Tom concerning the matter 

of his wife's extra-marital affairs with his best 

f't'iend; 

that Ann has· some knowledge of the volum12 (in 

monetary terms) of land transactions handled 

by the firm; 

that Ann has information regarding the p~rsonal 

and domestice affairs of the partners and the 

other secretaries in the firm. 

Mike is most disappointed and astonished on discovering that Lisa 

has been responsible for divulging all this informatiou, 

In an effort to avoid a recurrcnc~ you as managinB partner have 

decided to give a lecture to all the secreturies 'Qn their role within the 
\ 

firm. Prepare a paper for presentation. 1 
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QUESTION 2 

You are a partn~r in a finJ which operates without an organised 

system. The administrative duties are assigned to no on: in··particular and 

most persons employed to the firm resign within a year of being employed. 

You have assessed the situation and are of the opinion that the 

problem relates in part to the fact that:-

(a) no one has been appointed managing partner; 

(b) no consideration is given to utilising job 

descriptions and sp~cifications; 

(c) there is lack of proper communication between 

management end st~ff; 

(d) little importance is placed on staffing and delegation; and 

(e) absolutely no thought is given to the design and layout 

of the office. 

You need to convince the other partners of the importance of 

these matters. 

. !t:P 

Explain their relevance to the ~fficient operntion of the firm. 

QUESTION 3 

11Any system designed with respect to the firm's accounting 

functions should underscore the importance of the separation of the 

firm's bank account. 11 Discuss 

* ~-.. 

QUESTION 4 

"The success of a.law firm is totally dependent on the ability 

of its lawyers to properly manage their time." Discuss 
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PART B 

QUESTION 5 

The Forward Looking Company Limited has planned a cash bud3et for 

the first six months of 1989. Estimates show that $60,000 should be collected 

in March and June for dividends un investments in the stock of other companies. 

Each month the fixad operating expenses for wagesi rent and liBht in the amollll.t 

of $220,000 are paid. Depreciation each month on fixed assets is $10,000. 

Collections on Accounts Raceivable are estimated as follows: 

50% collected in the month of sale 

20% collected in the month following sale 

30% collected in the second month following sale 

Payments for suppliers are scheduled so that 60% of the disburseoents 

are made in the month of purchase with the balan~e paid in the following 

month. The cash balance is estimated as $256,000 at the end of June 1989, • 

before taking into consideration any temporary loans acquired or repaid. 

Estimated net purchases and sales by wonth are as follows: 

Net Purchases Net Sales 

November 1982. $.320,000 $560,000 

December 1988 380)000 530,JOO 

January 1989 420 5 000 640,000 

February 1989 400,000 700,000 

March 1989 350,000 650,000 

April 1989 280,000 580~000 

May 1989 260t000 460,000 

June, 1989 260,000 5207000 

Payment for Income Tax of $110,000 is to be I:l3de in February 1989 

and of $150,000 is to be made in June 1989. A long-term loan of $80,000 

with interest of $12,000 is scheduled for re-pnyrmnt in February 1989. 

Required: 

a. Prepare a Cash Budget with a total column showing the receipts 

and payments each ~nth, the monthly inflow and outflows. 
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Explain why the monthly balances on a Cash Budget will not 

agree with those on the Budgeted Income Statement covering 

the same period. 

. - ......­.. 

QUESTION 6 

On January ls 198ls the Sales Ledger balences of S Company were 

$32,000 debit and $128 cradit and th~ Bought Ledger balances at the same 

date were $17,520 credit an1 $11& d2bit. During the half year ended June 

30, sales amounted to $927000; purchases to $7G;SSO] er.sh received from 

debtors $84,480; cash pnid to creditors $79,104; di3count allowable $2,520; 

discount received $3i296; returns im1arC: ?l,7CJ :. returns outwards $1,240; 

bills receivable $3~560. ~ills payabl~ $480 5 bills =cccivable dishonoured· 

$380; discount allOWG•i to debtors but subsequently cis:"'.llOWed $10; bad debts 

$640; a debit balance in Boucht Ledp,~r arnountins to $13 was · trsnsferred to 

the Sales Ledger. Small debit balanc~s of $8 nnd $10 in the Bought Ledger 

and Sales L~uger respectively wc:2 written 0££ t~ Profit and Loss Account. 

(a) Prepare e..ric i:ialc.nce t~11;:: <1.cc0un:::& Reci?ivcLle and the Accounts 

Payable Cantrel Accounts at June 30, 1981. 

(b) What are Control Accounts? 

(c) What arc the ::!.dvantc.gr;s to be ,Jerivecl frcs Control Accounts? 

(d) N8m~ six (6) Control Accounts met with in practice. 

QUESTION 7 

On 15 May, 1988s Mr. Lakes received his cronthly bank statement for 

the month ended 30 April 1988. The bcnk statement contained the following 

details:-
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Mr. D. Lcikes 

Statement of Account with Baro~ds Linited 

Date P::i.rticulars Paycient Rccei2ts Balance 

$ $ $ 

1 April Balance 1,053.29 

2 April 236127 210.70 842.59 

3 April Bank Giro Credit 192.35· 1,034.S4 

6 April 236126 · 15.21 1,019.73 

6 April Charges 12.&0 1,006.93 

9 April 236129 43.821 963.11 

10 April 427519 19.47 943.64 

12 April 236128 lii. 70 831. 94 

17 April Standing Order 32.52 799.42 
. 

20 April Sundry Credit 249. 50 : 1,048.92 

23 April 236130 77087 971.Q5 

23 April 236132 59.09 911. 96 

25 April Bank i~iru Crt:?dit 21.47 933.43 
. 

27 April Sundry Credit 304. 20 . 1,237.63 

30 April 236133 71.18 \.. 1,166.45 

For the corresponding period Mr. Lak~c:i 1 own reccnls contai..1ad the following 

bank account: 

Date Detail $ Date Detail Cheque $ 
No. 

1 April Balance 827.38 5 April Purchases 128 111. 70 

2 April Sales 192.35 10 April Electricity 129 43.02 
~ 

18 April Sales 249.50 15 April Purchases 130 l87 ~ 77 

24 April Sales 304.?.0 
I 

18 ,\.pril Rent 131 30 .. nG 

~ 30 April Sales 192.80 20 April Purchases 132 5S.09 

25 April Purchases 133 71.13 

30 April W.3.£CS 134 52.27 

30 April Balance lt31Q.40 --r---

lg766.2S 
I!::"\' -~~= 

1,766.23 
' 
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Required: 

(a) Prepare a statement reconciling the balance at 30 April as given 

by the bank statement to the balance at 30 April as stated in the 

bank account. 

(b) Calculate the balance that would appccr in the balance sheet as 

cash at bank 

QUESTION 8 

(a) P & B hava been partners as attorneye-.:!t-lnw for a number of yG.'!rD 

sharing profits and losses equally. On January 1, 1990, a decision was 

taken to admit R as a Partner. He ~3s required to pay into the ·business 

$15,000 as capital and $3,80J as premium. The sums were duly paid into 

the business. As between P & B, they will from the date of the agreement~ 

share profits in the ratio of 3~2 raspectivcly. 

(i) Show how the goodwill snould be distributed 

between P & B; 

(ii) assume that R could not find the funds to pay 

for his shar~ of the goodwill, suggest an 

alternative method by which R could be 

accommodated. 

(b) List ten heads of agreement that should be enshrined in any 

partnership contract in the mutual interest and protection of the partners. 


